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QUESTION 1

A report author creates an expression usingthe closingPeriod function to return the latest month found in the data
source, and names the expression "Current Month".

What can the report author do with "Current Month"?

A. Use it to replace the lastPeriods(1,[Month]) expression currently in the report.

B. Add it to an expression to find the current member for the Month level.

C. Use it to determine the current quarter: parent([Current Month]).

D. Use it as a report expression to display the current month in the page header of the report.

Correct Answer: C

QUESTION 2

Instead of prompting the user to select any countries in Europe, the report author wants to constrain the user to select
one or more countries from the Northern Europe region. What kind of prompt should be used and how can this be
achieved?

A. This is not possible because a prompt must always be populated with all members of a level.

B. Create a multi-select value prompt. Populate it using an expression on the [Northern Europe] member to retrieve its
children on the country level.

C. Generate a prompt by creating an expression with a parameter on the crosstab edge: children([Northern
Europe]->?Country?

D. Create a tree prompt, and populate it using an expression on the[Northern Europe] member to retrieve its children at
the country level.

Correct Answer: B

QUESTION 3

If the syntax for thehead function is head(set_exp[,index_exp]),then which of the following expressions is correct?
A. head(members([sales_and_marketing].[Products].[Products].[Product line]),2)

B. head(([sales_and_marketing].[Products].[Products].[Product line])[,2])

C. head(order([sales_and_marketing].[Products].[Products].[Product line])2)

D. head(members([sales_and_marketing].[Products].[Products].[Product line],2))
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Correct Answer: A

QUESTION 4

In a crosstab, Campaign is in the rows area, Order method type is in the columns area, and Quantity is the measure.
Campaign and Order method type are specified in the query. The report runs, displaying quantity valuesfor all years.

Why does this happen?

A. The dimension member from that dimension is implied.

B. The order method member from that dimension is implied.
C. The aggregate member from that dimension is implied.

D. The default member from that dimensionis implied.

Correct Answer: D

QUESTION 5

Which of the following is true if a report author nests members in a crosstab report?
A. Nested members are also known as complex members.

B. The inner membermust be on the level immediately below the outer member.

C. Nested members must be members of hierarchies, not of the Measures folder.
D. It is possible to nest members from different dimensions.

Correct Answer: D

QUESTION 6

A report author uses the following expression: lastPeriods(3,[2007/Mar]). What data will be returned when the report is
run?

A. The last 3 months before 2007/Mar

B. 3 months, including 2007/Mar and the preceeding 2 months

C. The total of currentMeasure for 3 months including 2007/Mar and the preceeding 2 months
D. The month March of each of the 3 years 2005, 2006, and 2007

Correct Answer: B
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QUESTION 7

A report authorhas created a crosstab report from the data source shown. The Retailer name level has been dragged to
the rows and default drilling up and down has been activated.

" Retallers

=== Retailers
+ [C7] Members
4 == Retallers

+- == Fegion

i
L]

= Retailer country

# == Retailer name

What will be displayed in the report if the consumer drills up on one of the members of Retailer name?
A. The parent member of the member drilled on.

B. The ancestors of the member drilled on from the whole Retailers hierarchy.

C. The members from the Region level.

D. The members from the Retailer country level.

Correct Answer: D

QUESTION 8

Which of the following statements is true about explicitly defined member sets?
A. They must have drill behavior defined manually.

B. They assume the drill behavior from the top member setin the same branch.
C. They are automatically configured for default drill behavior.

D. They are too complex to enable drilling.

Correct Answer: A

QUESTION 9

Which of the following statements is correct about the order function?

A. The currentMeasure function must be used with the orderfunction as the sort by criterion.
B. It arranges members of all sets in the report by ascending or descending values.

C. Optional parameters allow the author to order the members of a hierarchy without regard of their level.
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D. It arranges members of a set alphabetically by ascending or descending captions.

Correct Answer: C

QUESTION 10

Can a prompt be used in the expression of a slicer?

A. Yes, if the correct syntax is used.

B. No, the slicer syntax is not compatible with prompt syntax.
C. Yes, if the slicer is a hierarchy.

D. No, the slicer must be manually created by the report author.

Correct Answer: A
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